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QUESTION 1

You add a multicast source to a network. The source\\'s DR sends register messages to the RP However, multicast
clients are not able to receive traffic from the source. What are two causes of this problem? (Choose two.)

A. A reject policy is configured on the designated router.

B. The RP did not receive a PIM join message for the group specified.
C. A reject policy is configured on the RP.

D. The designated router must send a null register message to the RP.

Correct Answer: BC

QUESTION 2

Your Junos device is dropping certain traffic flows, while allowing other traffic flows to pass through the device
unaffected.

Which CoS component is causing this problem?
A. BA classification

B. RED

C. MF classification

D. Rewrite rules

Correct Answer: D

QUESTION 3

Your Layer 2 network uses VLAN IDs 100 through 400 and you are required to load-balance these VLANs between two
different root bridges. You are currently using the default RSTP settings and notice that all VLANs are using the same
root bridge.

How do you ensure the VLANSs are load-balanced between two root bridges?

A. Configure MSTP with two MSTI regions and split the VLAN range between them.

B. Configure VSTP with two VLAN groups and split the VLAN range between them.

C. Configure two RSTP instances and split the VLAN range between them.

D. Configure STP and RSTP and split the VLAN range between them.

Correct Answer: A
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QUESTION 4

Referring to the exhibit, the prefix 3.3.3.3/32 is not in R1 \\'s routing table. Which two configuration changes on R2 would
resolve the problem? (Choose two.)

it o EBGP
R1 HF___[B_G_P"HH sz\‘w- 7R3 X

/ # il

i - - : it i

I £2-0/0/1 reojojz METIN fe0/0/7 el AT AS200 \

i H I

\ TPRAR LIS 172.10.1.2/24 w,:'1?2.25.1.2f24 V1722013024 U i
%

Sa, 100=1111/32 lo0=2.2.22/32 ¢ \ ;
- A . ~ 0=
T AS100 - .~ lo0=3.333/32 b=

userfRl> show route receive-protocol bgp 2.2.2.2 211 extensive

inet.0: & destimetions, € routes (5 sctive, 0 holddown, 1 kidden}
3.3.3.3/32 (1 entry, 0 announced}
Leocepred
Nexthop: 172.20.1_.3
Localpref: 100
LS path: 200 T

userfRl> show route 3.3.3.3 =211

inet_.0: & destinetions, € routes (5 active, 0 holddown, 1 kidden)

+ = Retive Boute, — = Last Active, * = Both

3.3.3.3r32 [BER/170] 00:02:32, lecalpref 100, from 2.2 2.2
A5 path: Z00 I
Unusable

u=seriRl> show route

inet.0: €& destinations, € routes (5 sctive, 0 holddown, 1 hidden)

+ = Active Route, - = Last Active, * = Both
1.1.1_1/32 *[Direct/0] 00:47:57
> wria lo0_0
2.2 2_2/32 +*[0SPES10] 00:04:1E, metric 1
> to 172.10.1.2 wia ge-0/0/1.0
172 10.1.0/24 *{Direct/0] 0DD:-4T7:57
> wvig ge-0/0/1.0
172.10.1.1732 *[Local/0] 00:47T:57
Loezal wis ge-0/0/1-0
224.0.0.5/32 +*[0SPF/10] 00:4T7:58, metric 1
MultiBecwv

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: BC

QUESTION 5

-- Exhibit -protocols {
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bgp {

group isps {

type external;

peer-as 13090194;

multipath multiple-as;

neighbor ;

neighbor ;

}

}

}

-- Exhibit -

Click the Exhibit button.
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The exhibit shows the complete BGP configuration for a router. The network operator reports that both

peering sessions are up, but the router is not conducting per-flow load balancing over the connections to

these two peers.

What are two causes for this behavior? (Choose two.)

A. The forwarding-table export policy is not configured to cause per-flow load balancing.

B. The multiple-as parameter causes BGP to only choose multiple paths to different ASs, rather than multiple paths to

the same AS.

C. The router has different IGP metrics to these BGP peers.

D. The BGP peers are not sending identical advertisements over the two sessions.

Correct Answer: AD
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